PERFOR,,
N 4y,

5
Sunce 1988

Complete line of Sinusoidal Brushless Servomotors
(6 poles) for use with sinusoidal and trapezoidal AXOR’s 4
Drives (Mcb, Mcb Plus, McbNet MiniMAGNUM and
MAGNUM 400). Torque range from 0.35 to 30 Nm.

STANDARD FEATURES

v Sinusoidal B.E.M.F.
v Excellent torque/inertia ratio
v Permanent rare earth magnets (NdFeB)
v Very low fluctuations of torque at minimum speed
v High overload capacity (4 x stall torque)
v Protection class IP54
v Five different Nominal Voltages
(44, 95, 145, 220 and 380 Vac)
v Two different feedback systems:
Encoder 2048P/Rev, 5V LD or 2 poles resolver
v All motors with flying screw connectors

v Operating temperature O + 40°C ( E
OPTIONS

v Holding brakes . o )

v Protection class: P65, IPB5S (with shaft sealing) Typical applications are: Axis Controlled by CNC,
v Special flanges and shafts available upon request Strongly Intermittent Motor Duties, Machine
v Flying leads instead of screw connectors Tools, Textile and Graphic Machines, Robots,
v Custom mountings available Transfer Lines, Manufacturing, Packaging and

Wood Working Machines.
TORGUE RANGE
SERIES SSAX 55 SSAX 75 SSAX 100 SSAX 140

- SiZE s Imlifxs[s|mloLlsImlLxxx|s|mlL[x|x
Mo stall Torque (At=100°C) (Nm) | 03508 [ 12 (11 |16 |27 |38 32| 52 |75 |85(10.6/13.5/17.8] 22 | 26 | 30
Mpk Peak Stall Torque (Nm) | 14 |32 | 48 | 45 | 64 |10.8|152112.8| 21 | 30 | 34 | 42 | 55 | 72 | 90 | 105|120

380 Vac|Stall Ac Current [lo (Arms)| 0.7 [1.4[1.5|1.1|1.5]2.4/3.5|2.2| 3.4 ]4.8(/5.5|6.8|8.7[11.5] 14 [16.5] 19
Driee's |Rated speed | NI, (Rpm) |6000|6000|5000|4000 |4000/4000/4000]3000/ 3000 [3000/3000] 3000|3000/3000| 3000 30003000

main

wltage |Stall DC Current[lo% (Aoc) [ 0.9 [ 1.8 [1.9 (13 [19 31 4428 446 | 7 [87 |11 |[146] — | — | —
Stall Ac Current [lo (Arms)

Drive’s [Rated speed [, (Rpm) |4000|40004000]4000 |40004000|4000/3000 3000 |3000|3000/3000{3000/3000/2000| — | —
main

witage |Stall DC Current|lo® (Apc) [ 0.9 | 18|27 (23 |34 |55|77(47|75|10 | 12| 15|19 | — | — | — | —

Stall Ac Current |lo (Arms)

Drive's |Rated speed |, (Rpm) 4000|4000 |4000|4000 |4000|4000(4000{3000| 3000|3000(3000|3000{2000{2000, — | — | —
main

wloge |Stall DC Current [10® (Aoc) | 14 | 2.7 | 4 |35 | 5 | 7.7 |17 72 |115]159] 18 | — | 19 | — | — | — | —
Stall Ac Current (lo (Arms)| 1. . . . . . .
Drive's |Rated speed | I, (Rpm) |4000/4000| 4000{4000 |4000|3500]3000[3000| 3000 2500120001200 — | — | — | — | —
main
woltsge |Stall DC Current[1o® (Aoc) | 2 | 4 | 62| 5 | 8 | 10 |133] 11 | 175197 18 | — | — | — | — | — | —
3.5/5.2|7.9 519,
Drive's |Rated speed | I, (Rpm) |4000/3000/30003000 |3000|3000(2000[3000 2000 — | — | — | — | — | — | — | —

main

wliage |Stall DC Current|lo® (Aoc) |44 /66 10 (10 [ 1319 /19| — — | —|—|—| —| —| —| —| —
d  Rotor Inertia | (Kgm?)-10*[0.08/0.16/0.24{ 0.4 [ 0.6 | 1 |14[1.8] 2.8 [3.84.2[5.2[135] 18 | 22 | 27 | 31

J8  Brake Inertia | (Kgm?)-10™ 0.045 0.122 0.37 115 4.0

BRAKE stal torque (At=100°C) (24 \ioc +6% -10%) | 1.8 Nm (0.46 Aoc) 4 Nm (05 Anc) 32 Nm (1.1 Aoc)

| MODULE |2 4al6|2/3]5]7]3]5 7[8l10]3]4]5][6]7]

* AXOR IND. A COMPLETE LINE OF MOTORS AND SERVODRIVES *




* AXOR IND. A COMPLETE LINE OF MOTORS AND SERVODRIVES *

Specifications subject to change without notice. This document has been carefully checked. However, Axor does not assume liability for errors or inaccuracies. @

COPYRIGHT 2006 AXOR INDUSTRIES. All rights reserved. Printed in ltaly. 01,06

Part number D.S.,/01.06,/55ax/01

MECHANICAL DIMENSIONS All dimensions refer to both resolver and encoder versions

I

REFERENCES
SERIES - Mo (Nm)

- 119 =
== |
P

4x
(threaded holes)

4x
(clearance holes)

CONNECTION DATA  Flying connector (solder side view)

558 0.35 |117 (127)* |158 (168)* M3
55 M 0.8 |142(152)" [183(193)* | 9 | 20 | x [10.2| x [ 40| 63 |55| — | —|25| 7 |56 |74
55 L 1.2 {167 (177)" [208 (218)* 14 8
75 XS 1.1 141 190
2 M4 M5 O
758 6 156 205 11 | 23 |4x18/12.5
75 M 57 186 25 1)(0 60 | 90 | 55| 75 >8< 25110 | 75 (100
75 L 3.8 216 265 14 | 30 |5x25] 16
100 § 3.2 183 232
100 M 5.2 218 266 6 M6 O
100 L 75 253 301 19 40| x |25 x |95 |115] 9 | — | — | 3 | 12 |100|135
100XL 85 271 319 32 16
100 XXL__10.6 306 354
140 S 13.5 210 270
140 M 17.8 235 295 8 M8 m] :
140 L 22 260 320 24 150 | x |27 | x 130|165 11 | — | — | 3.5| 13 |140|188135|101| 88 | 15.4 | 18.5
140XL 26 285 345 40 19 18.2 [ 21.3
140 XXL 30 310 370 21 | 241
N

*: External shield tied to connector housing. All intern:

shields must

TOR "ENCO

POWER CONNECTOR SIGNAL CONNECTOR "RESOLVER" SIGNAL CONNE
1=U MOTOR 4 =C0S (+) 1= UNCONNECTED 11=HALL A=U
4=V MOTOR 8=C0S(-) 3=+5VSUPPLY 12 =HALL A(-) = U(-)
3=W MOTOR 3=5EN (+) 4 = 0V SUPPLY 13 =HALL B{-}=V(-)
2 = GND ©PE 7=5EN (-} 5=CHA 14 =HALL B=V
C = BRAKE (+) 5=EXC (+) 6= CHA (-) 15=HALL C =W
D = BRAKE (-) 9=EXC (-) 7 =CHB 16 = HALL C(-) = W(-)
A - B= UNCONNECTED 2 = THERMAL SWITCH 8=CHB (-) 17 = THERMAL SWITCH
6 = THERMAL SWITCH 9=CHZ 2 = THERMAL SWITCH
(for both Encoder/Resolver versions) 1-10-11-12 = UNCONNECTED 10=CHZ {-)
UELTLTTRE L IS SSAX 55 M 40 /220 - 000D00X ) 0 T05 3-SC00 R 1 XX
NAME: Line of Brushless Servomotors | THERMAL PHpTECTIE'hE T
SERIES: 55, 75, 100 and 140 gf;'}%m’égt%ggﬁh N.C. (std) CONNECTIONS
SIZE: XS, S, M, L, XL, XXL N=wfou& protection (opt) 2“'52‘;“,})!3":
- 40= Standard for 55 all sizes = ;
NOMINAL SPEED Ex: 40=4000 Rpm (see table on reverse) all feedback with flying leads F= Front exit
NOMINAL SUPPLY DRIVE VOLTAGE: HOLDING BRAKE- T=Top exit
044, 095, 145, 220 and 380 Vac 0 2 Without braks (std)
[ 1 = With brake (opt)
FEEDBACK: :
FLANGE & SHAFT (1VUIVNUIVRA - standard for allmotors (see above) 705 = Encodler O1H4806-2048 p/r st PROTECTION CLASS:
MOUNTING FLANGE:—————T T— SHAFT KEY: T01 = Encoder 0IH48@8-2000 p/r (op 2-1PE5 ( t)
000= standard (see above) x=with key (standard) T04 = Encoder 0IH4808-1024 p/r (opt =IP6d (opt)
001:499= [EC metric dimension w=without key (optional) 106 = Encoder 0H4808-4096 p/r (opt 3=IP65S w.shaft oil seal (opt)
501:999= Axor’s internal code SHAFT DIAMETER: D05 = Encoder F1086 - 2048 p/r (opt
MOUNTING HOLES: 00= standard (see above) D04 = Encoder F1006 - 1024 p/r (opt
D= B5 flange with thru holes (standard) 01 + 49= IEC metric diameter R02 = Resolver 2p {stdg
C= B14 flange with threaded holes (opfional) 51 = 99= Axor’s internal code ROG6 = Resolver 6p (opt
SPECIALFLANSES& SHAFTS B D Wy W U NgM F J F E S R0 T FEEDBACK— | AXOR INTERNAL USE: -
; | : = (std)
065D09X (for SSAXS5 all sizes) | 9 | 20 |3x1410.2| M3x8 | 50 |65 [5.5 250 7 |55]74] So0 (std) +R = reducer presence
085C14X (for SSAX75 all sizes) [ 14|30 [5X25| 16 |MdX10| 70 |— [ — | 85 |M6X8 | 2.5| 10| 75 [100| 0=0° (opt)
100D11X (for SSAX75 XS,SM) | 11|23 |4x18|12.5(M4x10| 80 [100(6.6 | — [ — | 3 [ 10|90 [115
100D14X (for SSAX75 all sizes) |14 | 30 |5x25| 16 [M4x10| 80 [100]6.6|— | — | 3 [10|90|115
130D14X (for 75 all/100 SML) |14 [305%x25] 16 |M4xio[110l130f 9 | —| — [3.5[10[115[150 ELECTRICAL CONNECTIONS:
: SCO00 = Screw Connectors (std)
115D14X (for SSAX100 S, M)  [14]30[5x25| 16 [M4ax10| 95 [115[ 9 [—| — | 3 |12|100[135 ] TT—LE"GTH
115D24X (for SSAX100 all sizes) |24 | 50 [8X40| 27 [M8x19| 95 [115( 9 |— | — | 3 |12 /|100[135 MOTOR SIDE FEEDBACK -55‘52451'9{;@';5;2]
130D19X (for SSAX100 all sizes) |19 | 40 |6x32|21.5[M6x16/110/130[ 9 | — | — |3.5[ 12 [115[150] P=Cableglands | E=Encoder  gang oniy) fength
: R = Resolver  available for SSAX55
130D24X (for SSAX100 all sizes) |24 |50 |8x40| 27 [M8x19]110[130] 9 | —| — [3.5[12]115/150 5099 =Axor’s internal use
145D19X (for SSAX100 all sizes) {19 | 40 |6x32(21.5|M6x16[110[145[ 9 | — | — |3.5[12{130|165] ASSEMBLY CODE—
3=No connectors, static cables 19 A
4=SubD signal connector, static cables fms max

MOTOR

AXOR INDUSTRIES’

&[orivESEEE”

viale Stazione,5 -

phone: (+39) 0444 440441 (8

ite: www.axorindustries.com

36054 Montebello

- Vicenza - Ital
39) 0444 44041

lines) - ) I
info@axorindustries.com





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /KOR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe7f6e521b5efa76840020005000440046002065876863ff0c5c065305542b66f49ad8768456fe50cf52068fa87387ff0c4ee575284e8e9ad88d2891cf76845370524d6253537030028be5002000500044004600206587686353ef4ee54f7f752800200020004100630072006f00620061007400204e0e002000520065006100640065007200200035002e00300020548c66f49ad87248672c62535f0030028fd94e9b8bbe7f6e89816c425d4c51655b574f533002>
    /CHT <FEFF4f7f752890194e9b8a2d5b9a5efa7acb76840020005000440046002065874ef65305542b8f039ad876845f7150cf89e367905ea6ff0c9069752865bc9ad854c18cea76845370524d521753703002005000440046002065874ef653ef4ee54f7f75280020004100630072006f0062006100740020548c002000520065006100640065007200200035002e0030002053ca66f465b07248672c4f86958b555f300290194e9b8a2d5b9a89816c425d4c51655b57578b3002>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [595.000 842.000]
>> setpagedevice


